Svenska Bridgeférbundet
Simultan Dag 2018-09-06

Partavling, 43 bord, 83 par. Antal brickor: 24. Medel: 936.6. Frirond (*) ger egen procent.

Plac

B10

Poang

1309.4
1299.7
1257.1
1238.7
1218.5
1207.2
1182.2
1173.1
1158.5
1132.9
1122.5
1119.2
1117.3
1113.3
1100.5
1098.9
1093.8
1091.8
1086.0
1039.1
1037.5
1028.2
1025.9
1023.0
1022.4
1022.0
1020.6
1019.9
1004.9
1004.3
1002.4
991.1
990.4
987.8
984.8
984.2
979.5
970.9
970.5
950.3
949.3
942.5
941.5
936.1
935.5
925.3
905.6
898.5
896.6
893.4
889.2
886.6
878.9
867.9
863.7
857.1
854.1
843.7
839.9
838.9
838.7
819.2
816.9
810.5
805.5
788.3
777.3
764.6
763.9
763.1
743.0
738.4
731.4
730.3
730.2
693.9
690.7
686.1
660.1
651.8
589.7
584.0
539.1

%

69.95
69.43
67.15
66.17
65.09
64.49
63.15
62.67
61.89
60.52
59.96
59.79
59.68
59.47
58.79
58.70
58.43
58.32
58.01
55.51
55.42
54.92
54.80
54.65
54.61
54.59
54.52
54.48
53.68
53.65
53.55
52.94
52.91
52.77
52.61
52.57
52.32
51.87
51.84
50.76
50.71
50.35
50.29
50.01
49.97
49.43
48.38
48.00
47.89
47.72
47.50
47.36
46.95
46.36
46.14
45.79
45.62
45.07
44.86
44.81
44.80
43.76
43.64
43.30
43.03
42.11
41.52
40.84
40.81
40.76
39.69
39.44
39.07
39.01
39.01
37.07
36.90
36.65
35.26
34.82
31.50
31.20
28.80

Namn

Bonnie Clementsson - Jan Clementsson
Lennart Karlsson - Waldo Whiteman
Susanne Levin - Per-Olof Olehn
Gunilla Soderlind - Bengt Soderlind
Jan-Olof Hegethorn - Mats Dimberg
Idor Kihlmark - Lars Haglund

Erica Josefson - Bertil Josefson
Svante Wangberg - Cecilia Moérner
Olle Persson - Kjell Carlsson

Bodil Andersson - Sven Andersson
Gunnar Enmark - Paul lwarson

Klas Nyberg - Marja Hansson

Gun Karlsson - Ake Karlsson

Ingamaj Forsman - Elisabeth Knappe
Roland Lundberg - Lennart Linnerstedt
Else-Marie Wéappling - Kent Wéappling
Tommy Jeppsson - Thomas Ehrstedt
Klas Bellander - Mats Holm

Bengt Nilsson - Peter Gati

Goran Sandstrom - Bodil Olsson
Benny Hellman - Margareta Roos
Agneta Moberg - Torkel Olund
Margareta Hedin - Bertil Andersson
Stig Nilsson - Leif Johansson

Arne Melin - Maud Kylinger

Gustaf Bergstrand - Lena Bergstrand
Hans-Olof Hallén - Lars-Goéran Niklasson
Sune Sundholm - Arne Johansson
Gunilla Ramén - Margaretha von Plomgren
Siv Jarlvik - Lars Becklén

Siv Gustavsson - Ulla Ouchterlony
Riitta Wennberg - Gosta Bengtsar
Gunnar Franzén - Mats Dimberg

Else Holdt - Inger Edstrém

Lars Wastfelt - Leif Ahlbom

Bertil Hansson - Lone Stolt

Bertil Helmer - Stig Petersson

Gert Sjunnesson - Richard Tham
Birgitta Kiotseridis - Alcibiades Azolas
Per-Olov Viterstedt - Margareta Viterstedt
Eva Thornell - Christina Akerblom

Per Bergstén - Bengt Hallgren

Annika Helmfrid - Eric Brage

UIf Frimodig - May Lindberg

Borje Jarlvik - Berth Rasmusson

Hans Wijkstrom - Eva Linde
Margareta Ljunge - Margareta Jarheden
Ingegérd Andersson - Sara Haglind
Bruno Astrand - Uno Karlsson

Hans Ryning - Lasse Thomasson
Mats Gernandt - Louise Gernandt
Birgit Litzell - Marie-Louise Sandberg
Jane Girdo - Gunlis Aberg

Bengt Ljungcrantz - Harry Tallo

UIf Ojing - Bertil Cohen

Leif Eliasson - Sonja Uulas

Lars Kvissberg - Marianne Kvissberg
Fredrik Broberg - Ake Séderberg
Ann-Margret Bokmark - Ingmarie Leinskéld
Meg Olsson - Ake Loftén

Jarmo Nieminen - Gun Séderberg
Ebba Ericsson - Ulla Regnér

Inga Kristiansson - Ingegerd Hermansson
UIf Pernvi - Sven-Olle Ekstrand

Raine Harju - Eva Hydén

Sture Nordlinder - Yvonne Nordlinder
Solveig Kristiansson - Britt-Marie R6nn
Ingrid Karlsson - Margareta Strom
Gunvor Sundberg - Karin Thunblad
Anna-Greta Berg - Eijvor Frej

Eva Bohlin - Gunnel Nobé&ck

Bengt Sahlstrém - Barbara Sahlstrom
Marit Breitholtz - Inger Wastfelt

Hans Bjurling - Lena Bjurling

Birgitta Kempe - Else-Maj Sigfridsson
Lillemor Berg - Birgitta Wideback
Sverker Skoéld - Gunnar Andersson
Ulla Wahlquist - Ulla Carlsson

Maj Danielsson - Sivert Danielsson
Eva-Lotta Axséter - Charlotte Koch
Gosta Wiik - Jan Strandberg

Karin Thuvesson - Gunilla Fridlund
Svein Dolven - Torkel Mohlin

MID
55628 55627
1196 2111
53421 5099
28938 40926
12033 60906
21611 47878
8684 36200
47877 87945
23285 6360
26046 26045
46432 12865
35064 5985
1201 1176
25331 51494
40418 1317
88573 88572
6314 4074
4541 4537

5797 11054
38419 23405
15033 25354
33198 41379
91376 11916
15422 48841
85944 31298
52421 52420

9896 11361
11888 8768
39649 40826

5751 80419
87227 45563
33280 33443
61262 60906
89099 83718
41397 89671

6750 82807
81583 88456
47447 37233
22803 36352
53174 53173
37874 47051

41 8909
88514 26863
41478 87809

4479 5791
41392 56644

1480 36059

2813 57308
53524 62924
45407 44565
64990 63796
80300 62312
94114 33694

4393 30401
14012 92044
58736 53172
51550 84687
90783 27160
78984 32383
33207 836
63050 56124
25998 25999
23655 81442
33681 60234
54128 58279
58732 58731

5514 22024
35000 35001

4469 4766
49605 58332
20187 20212
53453 53454
80308 41396
61453 61454
62922 63114
56643 56641
93912 81432
36625 92010
37932 37933
61395 55889
40520 40518
48346 53716
63061 58608

Klubb

Malmé BK

Filbyter Bridge
Malmd BK - BK Zonen
Kullabygdens BK

BK S:t Erik - BK ALERT
Trosa BS

Norrorts Bridge
Trosa BS

Malmo BK - Ellstorps BK
Kullabygdens BK
Lidingoé BK
Kullabygdens BK
Filbyter Bridge
Kullabygdens BK
Filbyter Bridge

Trosa BS

H66rs BK

Malmo BK

Malmé BK
Kullabygdens BK
Rotebro BS

BK ALERT

Filbyter Bridge
Kullabygdens BK
Filbyter Bridge

BK ALERT

Malmo BK

Gnesta BK - Trosa BS
Trosa BS

Malmo BK

Filbyter Bridge

BK S:t Erik - Alvik BC
Norrorts Bridge - BK ALERT
Kullabygdens BK

BK ALERT

Malmo BK

Filbyter Bridge
Filbyter Bridge
Malmo BK

Trosa BS

BK ALERT

Trosa BS

Filbyter Bridge

Trosa BS

Malmo BK

BK ALERT

Filbyter Bridge
Stigtomta BK

Trosa BS

Malmo BK

Trosa BS

Norrorts Bridge - BK ALERT
Malmd BK - BK Bridgehuset
Trosa BS

Malmé BK

Trosa BS

Filbyter Bridge

Trosa BS

Filbyter Bridge
Kullabygdens BK
Kullabygdens BK
Malmo BK

Trosa BS

Malmé BK

Filbyter Bridge

Trosa BS
Kullabygdens BK
Filbyter Bridge
Malmo BK

BK ALERT

Malmo BK

Malmo BK

BK ALERT

BK S:t Erik

Trosa BS

BK ALERT

Malmd BK

Filbyter Bridge
Filbyter Bridge

BK S:t Erik - BK ALERT
Malmo BK
Kullabygdens BK
Kullabygdens BK
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1 aKn Basta kontrakt 2 & KKn832 Basta kontrakt 3 ~Kn4 Basta kontrakt
Nord v 64 4v O =-420 Ost v K3 34 S =140 Syd v ED87 3¢ SD-1-100
Ingen 49743 NS ¢+ D2 ov ¢ Kn754
#EKKn874 & ¢ v & NT #9873 & ¢ v & NT #KKn10 & ¢ v & NT
« ED6 K53 N8 2265 «E107 496 N7 87 98 «D108765 4E9 N48756
vKn97532 KD S82265 vKnl06 v D842 S787 98 v3 v KKn94 S 487 45
+ D82 ¢EKKn105 O 3 9 106 6 ¢ Kn954 ¢ 863 06 56 45 + D82 +10 095686
*2 #963 vV 3 9 106 6 #K102 #EDKn4 V65645 *974 #ED6532 V945 8¢6
41098742 D54 4 K32
vE108 vE975 v 10652
+6 ¢ EK107 + EK963
#D105 #65 »8
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr ut Res Poéang
B14 B8 3NO-3 «Q 150 770 10| B6 B16 44 N= v4 620 76.0 2.0|B16 B7 3v O-3 ¢A 300 78.0 0.0
B15 B2 5¢ V-3 K 150 77.0 1.0|Bl4 B8 44 N= +J 620 76.0 2.0| D1 D16 3# Q-2 ¢A 200 75.0 3.0
B6 B16 3& N= ¢A 110 73.0 5.0|E16 El1 44 S= &2 620 76.0 2.0|E12 E10 34 O-2 ¢A 200 75.0 3.0
D11 D8 24 S= +Q 110 73.0 5.0|D13 D1 3NN= «Q 600 720 6.0| A5 Al19 4e¢ N= A 130 71.0 7.0
B10 B5 4v O-2 ¢6 100 70.0 80| C8 C6 2NS+3 ¢4 210 70.0 8.0|B18 B5 3¢ N+1 A 130 71.0 7.0
E5 E12 4y V-1 *A 50 64.0 14.0| E5 E12 INS+3 v6 180 66.0 12.0| E7 E17 3¢ N= A 110 62.0 16.0
Cl10 C5 5v V-1 ] 50 64.0 14.0 |E17 E18 INS+3 ¢4 180 66.0 12.0| C9 C1 3¢ N= «A 110 62.0 16.0
E13 E4 2¢ O-1 8 50 64.0 14.0 | A22 A21 INS+3 ¢5 180 66.0 12.0| D9 D12 3¢ N= A 110 62.0 16.0
D14 D7 4v O-1 T 50 64.0 14.0| A2 Al4 24 N +2 v3 170 57.0 21.0(C10 C5 3¢ S= v3 110 62.0 16.0
E17 E18 5¢ O-1 T 50 64.0 14.0| A4 A18 24 N+2 ¢6 170 57.0 21.0|B13 B2 2¢ N+1 «A 110 62.0 16.0
E16 E1 34 S-2 2 -100 58.0 20.0|D11 D8 34 N+1 v2 170 57.0 21.0|B15 B3 3¢ N= A 110 62.0 16.0
D3 D5 3¢ O= +6 -110 56.0 22.0|E13 E4 24 N+2 A 170 57.0 21.0 |A21 A20 3¢ N= A 110 62.0 16.0
A4 A18 3¢ O+2 #Q  -150 48.0 30.0|D14 D7 24 N+2 v4 170 57.0 21.0| A4 Al7 44 0-1 ¢A 100 51.0 27.0
C9 C1l 2¢ O+3 #Q -150 48.0 30.0 (A20 A5 24 N+2 +8 170 57.0 21.0| B8 B4 34 V-1 v7 100 51.0 27.0
E11 E6 4% N-3 ¢ A -150 48.0 30.0| C7 C12 INV-3 ¢+Q 150 470 31.0({D11 D3 240-1 ¢A 100 51.0 27.0
B12 B11l 3¢ O +2 vA -150 48.0 30.0| D9 D4 INS+2 ¢5 150 47.0 31.0|E18 E8 34 V-1 ¢4 100 51.0 27.0
E14 E3 3¢ O+2 vA -150 48.0 30.0 |A10 A19 INS+2 ¢4 150 47.0 31.0| E1 E5 1¢ N+1 s A 90  45.0 33.0
D15 D6 3¢ O+2 &5 -150 48.0 30.0|E11 E6 INS+2 2 150 47.0 31.0|D13 D2 2¢ S= *9 90  45.0 33.0
B18 B4 4¢ O+1 &5 -150 48.0 30.0| Al Al12 34 N= v4 140 31.0 47.0| D4 D6 2y N-1 s A -50 36.0 42.0
C2 Cl11 3v V+1l ] -170 39.0 39.0| A3 Al16 34 N= v5 140 31.0 47.0| E4 E3 3¢ N-1 & A -50 36.0 42.0
D10 D2 3v O+1 +6 -170 39.0 39.0| D3 D5 24 N+1 A 140 31.0 47.0| D7 D15 3y N-1 *A -50 36.0 42.0
Al Al12 3v V+2 ] -200 35.0 43.0| C4 C3 24 N+1 A 140 31.0 47.0|A10 A18 3¢ S-1 v3 -50 36.0 42.0
E8 E9 3v V+2 &A -200 35.0 43.0| E7 E10 24 N+1 v4 140 31.0 47.0|B10 B17 3y N-1 *T -50 36.0 42.0
D9 D4 5¢ O= &5 -400 32.0 46.0| A8 Al15 24 N+1 ¢3 140 31.0 47.0 [A15 A3 4¢ N-1 s A -50 36.0 42.0
A3 Al6 4y O= +6 -420 26.0 52.0| E8 E9 2v S+1 v6 140 31.0 47.0|A22 A6 3¢ N-1 *A -50 36.0 42.0
E7 E10 4v O= ¢+5 -420 26.0 52.0|B10 B5 24 N+1 «J 140 31.0 47.0| A2 A13 3v S-2 LX) -100 22.0 56.0
B9 B17 4y O= +6 -420 26.0 52.0|C10 C5 24 N+1 A 140 31.0 470 C2 C11 5¢ S-2 v3 -100 22.0 56.0
D16 D12 4y O= +6 -420 26.0 52.0 | A1l A6 24 N+1 46 140 31.0 47.0| C8 C6 44 N-2 s A -100 22.0 56.0
A22 A21 4v V= +6 -420 26.0 52.0|D15 D6 34 N= A 140 31.0 47.0| B9 B14 3y N-2 s A -100 22.0 56.0
C4 C3 4v 0O+1 +6 -450 15.0 63.0|D16 D12 1a N +2 +8 140 31.0 47.0|B11 B6 3y N-2 *T -100 22.0 56.0
A7 Al13 4y V+1 &K -450 15.0 63.0| A7 A13 INS+1 ¢5 120 17.0 61.0 D14 D8 3¢ N-2 s A -100 22.0 56.0
B7 B3 4y V+1 *A -450 15.0 63.0|D10 D2 2NN = A 120 17.0 61.0 |E16 E15 4¢ N-2 s A -100 22.0 56.0
C7 Cl12 4v O+1 +6 -450 15.0 63.0|B15 B2 2v S= T 110 14.0 64.0| Al All 24 V= »T -110 13.0 65.0
C8 C6 4v V+1l *A -450 15.0 63.0| C2 C11 1v O-1 ¢A 50 10.0 68.0| C7 C12 3# 0= ¢ A -110 13.0 65.0
A10 A19 4v V +1 *A -450 15.0 63.0| B9 B17 INV-1 a2 50 10.0 68.0|D10 D5 4v S-3 v3 -150 10.0 68.0
A8 Al15 4y O +2 +6 -480 5.0 73.0|B18 B4 24 0O-1 ¢ A 50 10.0 68.0| E6 E13 3vyDN-2 &A -300 8.0 70.0
All A6 4y O+2 +6 -480 5.0 73.0| B7 B3 2vS-1 +4 -100 4.0 740|E11 E9 3vyDN-3 T -500 5.0 73.0
D13 D1 4y O+2 +6 -480 5.0 73.0| C9 Cl1 2NN-1 v2 -100 4.0 74.0|A12 A7 4vyDN-3 T -500 5.0 73.0
A20 A5 4y O+2 +6 -480 5.0 73.0|E14 E3 3¢ S-1 &2 -100 4.0 740| C4 C3 4vyDN-4 T -800 1.0 77.0
A2 Al4 4vyDO= 46 -590 0.0 78.0|B12 B1l 3NS-2 +4 -200 0.0 78.0| A8 Al4 4vyDN-4 T -800 1.0 77.0
- A17 45.5 - A17 45.5 - B12 30.4
B13 - 42.8 B13 - 42.8 - Al6 48.3
E15 - 37.4 E15 - 37.4 El4 - 30.4
4 #1093 Bésta kontrakt 5 & E985 Bésta kontrakt 6 # DKn985 Bésta kontrakt
Vast v 982 5NTV =-660 Nord v D65 4v O =-420 Ost v D62 6¢ O =-1370
Alla ¢ 743 NS +10 ov +E8
#E1097 & ¢ v & NT #KDKn32 & ¢ v & NT *875 & ¢ v o NT
~ K6 « DKn874 N32322 442 «K1076 N8 7 273 4EK73 464 N31444
vKnl107  vEK5 S32322 vK1098743 vEKn S87 273 vEKKn5 v94 S31545
¢ KDKn62 ¢ E10 O 1011101111 ¢ KKn7 ¢ D54 O 4 6 105 9 + KKn ¢D106432 O 10128 9 8
#D32 #KKn5 V 1011101111 8 *E1076 V 4 6 105 9 #ED10 #964 V 10128 9 8
«E52 « DKn3 « 102
v D643 v2 v 10873
+ 985 + E98632 4975
*864 #954 #KKn32
Par Kontr Ut Res Poang Par Kontr ut Res Poéang Par Kontr Ut Res Poéng
E6 E13 4N O -2 42 200 77.0 1.0|Bl14 B10 3# N-= «7 110 77.0 10| Al A22 6NDV-3 «Q 800 78.0 0.0
Al5 A3 6NV -2 9 200 770 1.0|B16 B8 2& N+1 «7 110 770 10| B6 B18 6v V-5 ¢A 500 75.0 3.0
B18 B5 2N O +2 v4 -180 740 40| C5 C4 14 O-2 5 100 73.0 50| E8 E7 5NV-5 +«Q 500 75.0 3.0
C5 C4 34 O+2 v -200 720 6.0|D10 D1 3NO-2 «Q 100 73.0 50| D8 D15 3NV-3 45 300 71.0 7.0
Cl C7 2NV +3 &7 -210 70.0 8.0| A2 Al12 4v V-1 &K 50 66.0 12.0|E15 E6 3NV-3 +8 300 71.0 7.0
E12 E10 24 O +4 v3 -230 68.0 10.0| C3 C11 4v V-1 *T 50 66.0 12.0| A5 A18 3NV-2 «Q 200 57.0 21.0
D4 D6 5¢ V= *A -600 64.0 14.0| D5 D7 2NO-1 *9 50 66.0 12.0| D5 D7 3NV-2 48 200 57.0 21.0
D7 D15 3NV = &9 -600 64.0 14.0|C10 C6 3NO-1 &9 50 66.0 12.0 | A10 A17 3NV -2 «Q 200 57.0 21.0
D14 D8 5¢ V= v8 -600 64.0 14.0|B12 B7 4y V-1 &K 50 66.0 12.0|C10 C6 7¢DO-1 3 200 57.0 21.0
D1 D16 3NV +1 v9 -630 52.0 26.0| B9 B5 2NN-1 a7 -100 57.0 21.0|E10 E1 2NV-2 a5 200 57.0 21.0
El E5 3NV+1 &7 -630 52.0 26.0|D11 D6 24 N-1 vA -100 57.0 21.0|D12 D4 3NO-2 9 200 57.0 21.0
C3 C11 3NV +1 &7 -630 52.0 26.0 |E12 E17 24 N-1 vA -100 57.0 21.0|B13 B3 3NV-2 8 200 57.0 21.0
E4 E3 3NV +1 &7 -630 52.0 26.0 |E16 E14 34 N-1 vA -100 57.0 21.0|A16 A4 3NV-2 «Q 200 57.0 21.0
A8 Al4 3NV +1 49 -630 52.0 26.0| C1 C7 2v V+1 *T -140 49.0 29.0|B16 B8 2NV -2 «Q 200 57.0 21.0
C8 Cl12 3NV +1 v8 -630 52.0 26.0| A5 A18 3v V= *T -140 49.0 29.0|B17 B11 3NV -2 «Q 200 57.0 21.0
D11 D3 3NO+1 &4 -630 52.0 26.0|A13 A8 2v V+1 *T -140 49.0 29.0 |A20 A19 4NV -2 «Q 200 57.0 21.0
B13 B2 3NV+1 &7 -630 52.0 26.0|E13 E9 3v V= *T -140 49.0 29.0|A21 A6 4v V-2 «Q 200 57.0 21.0
B16 B7 3NV +1 &7 -630 52.0 26.0| Al A22 3v V+1 &K -170 35.0 43.0| A2 A12 2NV -1 «Q 100 33.0 45.0
A5 Al19 54 O= v3 -650 40.0 38.0| E5 E3 3v V+1 *T -170 35.0 43.0| B4 B15 3NV-1 «Q 100 33.0 45.0
D9 D12 54 O= v4 -650 40.0 38.0| D8 D15 2v V +2 &K -170 35.0 43.0| E5S E3 3NV-1 «Q 100 33.0 45.0
D13 D2 54 O= 8 -650 40.0 38.0| E8 E7 3v V+1 &K -170 35.0 43.0| C8 C12 3NV-1 5 100 33.0 45.0
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Al A1l 3NV +2 &7 -660 22.0 56.0| D9 D14 3v V+1 T -170 35.0 43.0| C9 C2 3NV-1 49 100 33.0 45.0
A2 Al13 ANV +1 v9 -660 22.0 56.0|D12 D4 2v V+2 T -170 35.0 43.0| D9 D14 3NO-1 «Q 100 33.0 45.0
A4 A1l7 3NV +2 &T -660 22.0 56.0(D16 D2 3v V+1 s A -170 35.0 43.0|D10 D1 3NV-1 48 100 33.0 45.0
E7 E17 5NV = &A -660 22.0 56.0 |B17 B11 3v V+1 T -170 35.0 43.0|A11 A7 3NV-1 «Q 100 33.0 45.0
B9 B14 3N O +2 v3 -660 22.0 56.0 |A20 A19 2v V +2 T -170 35.0 43.0|B12 B7 3NV-1 «Q 100 33.0 45.0
A10 A18 3NV +2 v9 -660 22.0 56.0 |A21 A6 3v V+1 *T -170 35.0 43.0|D13 D3 3NV-1 «Q 100 33.0 45.0
B10 B17 3NV +2 &7 -660 22.0 56.0| A3 Al4 4y V= T -420 13.0 65.0|B14 B10 2NV -1 «Q 100 33.0 45.0
Cl10 C6 3NV +2 &7 -660 22.0 56.0| B4 B15 4v V= T -420 13.0 65.0|D16 D2 3v V-1 ¢A 100 33.0 45.0
D10 D5 3NO +2 v3 -660 22.0 56.0| B6 B18 4v V= T -420 13.0 65.0| C5 C4 24 V= A -90 20.0 58.0
B1l B6 3NV +2 &9 -660 22.0 56.0| C8 C12 4v V= T -420 13.0 65.0| C1 C7 2v V= A -110 18.0 60.0
E11 E9 3NO+2 v3 -660 22.0 56.0| C9 C2 4v V= +9 -420 13.0 65.0| B9 B5 2NV= a5 -120 14.0 64.0
B15 B3 3NV +2 SA -660 22.0 56.0 |A10 Al17 4y V= &K -420 13.0 65.0 |E11 E18 2NV = +Q -120 14.0 64.0
E16 E15 3NV +2 *4 -660 22.0 56.0 |[E10 E1 4v V= T -420 13.0 65.0 |E12 E17 2NV = &Q -120 14.0 64.0
E18 E8 3NV +2 &7 -660 22.0 56.0 |All A7 4y V= T -420 13.0 65.0| A3 Al4 2NV +2 &Q -180 9.0 69.0
A21 A20 3NV +2 &9 -660 22.0 56.0 |E11 E18 4v V= ®K -420 13.0 65.0| C3 C11 2NV +2 a8 -180 9.0 69.0
C9 C2 464 O+2 v6 -680 6.0 72.0|B13 B3 4v V= s A -420 13.0 65.0|D11 D6 3NV= &Q -600 5.0 73.0
B8 B4 3NV +3 &7 -690 2.0 76.0|D13 D3 4v V= T -420 13.0 65.0 |E13 E9 5¢ O= »2 -600 5.0 73.0
Al12 A7 3NV +3 v9 690 2.0 76.0(E15 E6 4v V= T -420 13.0 65.0 | A13 A8 3NV +1 +Q -630 2.0 76.0
A22 A6 3N O +3 v3 690 2.0 76.0|Al6 A4 3vyDV+1l T -630 0.0 78.0 |E16 E14 4NV +2 &8 -690 0.0 78.0
- B12 30.4| B2 - 39.6 B2 - 39.6
- Al6 48.3| E4 - 32.8 E4 - 32.8
E14 - 30.4 - Al5 52.4 - Al5 52.4
7 965 Basta kontrakt 8 & K952 Basta kontrakt 9 4 E10 Basta kontrakt
Syd v 1086 3v V =-140 Vast v3 2NTV =-120 Nord vE9 54 S =450
Alla ¢ 7542 Ingen 49532 ov + E9652
»872 & ¢ v & NT #DKn62 & ¢ v & NT &#KKn43 & ¢ v & NT
4D108742 &K N7 5 45 4 4E874 4106 N5 7 565 4872 & Kn954 N 11119 1010
v ED5 v Kn9432 S754565 vKnl05 vEKD2 S57565 vKnl054 v D876 S 11119 1110
+ D10 4 Kn963 O6 89 838 + DKn + K108 O85 86 8 + D108 +43 022422
&DKn K93 V6 89 88 #K943 410875 V85 8 6 8 #1092 &E76 V22422
& EKn3 & DKn3 & KD63
v K7 v 98764 v K32
+ EK8 ¢ E764 ¢ KKn7
&E10654 &E &D85
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
E16 E4 2NDO-2 &5 500 780 0.0|Cl11 C4 34 V-3 v3 150 78.0 00| E1 E8 3NN+3 ¢4 490 76.0 2.0
B3 B2 24 V-2 &7 200 730 50| D1 D5 1a N+1 vA 110 76.0 2.0|Cl11 C4 3NS+3 v4 490 76.0 2.0
Al2 A8 34DV-1 &8 200 73.0 50| E6 E3 3NO-2 ¢+6 100 740 4.0|A18 Al7 3NS+3 vJ 490 76.0 2.0
B15 B5 24 V-2 &8 200 73.0 5.0|D13 D4 2¢ S= a7 90 71.0 7.0 A2 A22 3NS+2 v4 460 61.0 17.0
Al7 A5 34DV-1 &2 200 73.0 50(B15 B5 2¢ S= vJ 90 71.0 70| B2 B9 3NS+2 v4 460 61.0 17.0
B10 B6 2v S+1 ¢A 140 68.0 10.0| B3 B2 3#0-1 v3 50 61.0 17.0| A3 Al2 3NS+2 &2 460 61.0 17.0
Cl10 C7 INS+1 7 120 66.0 12.0| B7 B18 3# O-1 v9 50 61.0 17.0| B4 B3 3NS+2 vT 460 61.0 17.0
D3 D16 2# S +1 vA 110 64.0 14.0|D10 D14 3NO-1 *4 50 61.0 17.0| A5 A16 3NS+2 vJ 460 61.0 17.0
Cl Cl12 34 V-1 &2 100 56.0 22.0 (D12 D7 3NV-1 &2 50 61.0 17.0|B10 B16 3N S +2 &T 460 61.0 17.0
C2 C8 24V-1 3 100 56.0 22.0 (B14 B11 3NO-1 ¢4 50 61.0 17.0 (A1l A8 3NS+2 v4 460 61.0 17.0
D6 D8 3v O-1 ¢A 100 56.0 22.0 [E14 E10 3NV-1 a2 50 61.0 17.0 |E11 E12 4NN +1 4 460 61.0 17.0
E6 E3 34 V-1 &8 100 56.0 22.0|B16 B9 3v O-1 &A 50 61.0 17.0 |D14 D11 3N S+2 42 460 61.0 17.0
B7 B18 24 V-1 &8 100 56.0 22.0 (A19 A18 3NV-1 &2 50 61.0 17.0 |A15 A10 3NN +2 v6 460 61.0 17.0
D13 D4 24 V-1 2 100 56.0 22.0|C10 C7 Pass 51.0 27.0|B15 B6 5NN= 4 460 61.0 17.0
E14 E10 24 V-1 &2 100 56.0 22.0|B17 B12 Pass 51.0 27.0 |E17 E14 3NN +2 &6 460 61.0 17.0
Al A21 24 S-1 rY:] -100 45.0 33.0| A6 A20 3¢ S-1 +Q -50 48.0 30.0|E1I0 E3 44 N+1 +3 450 48.0 30.0
Cll C4 3+S-1 vA -100 45.0 33.0|B13 B4 INO= *A -90 46.0 32.0| D1 D8 3NN +1 v6 430 37.0 41.0
D11 D2 2#S-1 vA -100 45.0 33.0|E16 E4 2v S-2 &3 -100 44.0 340| D2 D6 3NS+1 v4 430 37.0 41.0
B14 Bll 2& S-1 v5 -100 45.0 33.0| E1 E17 2y O= S A -110 40.0 380| C6 C5 3NN+1 v6 430 37.0 41.0
D1 D5 24 V= v8 -110 31.0 47.0| D6 D8 2y O= &A -110 40.0 38.0| A7 A21 3NN+1 v7 430 37.0 41.0
A2 All 24 V= &2 -110 31.0 47.0|B10 B6 2y O= &A -110 40.0 38.0| C9 C3 3NN+1 v6 430 37.0 41.0
A6 A20 24 V= &2 -110 31.0 47.0| Al A21 2NO= v9 -120 23.0 55.0(C10 C7 3NS+1 v4 430 37.0 41.0
C6 C5 26 V= &8 -110 31.0 470| C1 C12 2NO= *4 -120 23.0 55.0|B13 B5 3NS+1 vJ 430 37.0 41.0
E7 E11 24 V= &2 -110 31.0 47.0| A2 A1l 2NV = a5 -120 23.0 55.0|B14 B12 3NN +1 v8 430 37.0 41.0
E9 E15 24 V= &7 -110 31.0 470 C2 C8 INO+1 v9 -120 23.0 55.0 (D15 D10 3NN +1 v3 430 37.0 41.0
E13 E18 24 V= &2 -110 31.0 47.0| A3 A13 2NV = *2 -120 23.0 55.0|E16 E5 3NS+1 vJ 430 37.0 41.0
D15 D9 24 V= A -110 31.0 47.0| C6 C5 INO+1 *4 -120 23.0 55.0| A1 A20 3NS= vJ 400 13.0 65.0
B17 B12 24 V= &2 -110 31.0 47.0| E7 E11 INO+1 *4 -120 23.0 55.0| C1 C12 3NN= v5 400 13.0 65.0
Al9 Al18 24 V= vT -110 31.0 47.0| E9 E15 INO+1 *4 -120 23.0 55.0| C2 C8 3NN= v6 400 13.0 65.0
E1l E17 2v V+1 *2 -140 17.0 61.0|D11 D2 INO +1 v4 -120 23.0 55.0| A4 Al14 3NN= v7 400 13.0 65.0
E12 E8 24 V+1 &8 -140 17.0 61.0|Al2 A8 2NO= 43 -120 23.0 55.0| E4 E9 3NS= v4 400 13.0 65.0
B13 B4 2y O+1 A -140 17.0 61.0|E13 E18 INO+1 v6 -120 23.0 55.0| A6 A19 3NN= v6 400 13.0 65.0
A22 A7 2v O+1 A -140 17.0 61.0|D15 D9 INO +1 v6 -120 23.0 55.0| D7 D9 3NS= v5 400 13.0 65.0
A3 Al3 3% S-2 +Q -200 8.0 70.0|A1l7 A5 2NO= v6 -120 23.0 55.0|B11 B7 3NN= v6 400 13.0 65.0
A4 Al5 34 S-2 LY -200 8.0 70.0|A22 A7 INO+1 *4 -120 23.0 55.0|D12 D3 3NS= v5 400 13.0 65.0
Al0 Al6 3& S-2 &Q -200 8.0 70.0| D3 D16 1IN O +2 v9 -150 5.0 73.0|D13 D5 5¢ N= &A 400 13.0 65.0
D10 D14 2NS-2 a7 -200 8.0 70.0| A4 A15 INO+2 v6 -150 5.0 73.0|E13 E7 3NN= v6 400 13.0 65.0
B16 B9 3& S-2 a2 -200 8.0 70.0| C9 C3 2NO+1 *4 -150 5.0 73.0|E15 E18 3NN= v6 400 13.0 65.0
D12 D7 2NS-3 LY! -300 2.0 76.0 |A10 A16 1IN O +2 v6 -150 5.0 73.0|D16 D4 3NS= v5 400 13.0 65.0
C9 C3 2NS-4 a7 -400 0.0 78.0|E12 E8 3NV= a2 -400 0.0 78.0|B18 B8 3NN= v6 400 13.0 65.0
- B8 28.9 - B8 289 | E6 - 41.9
E5 - 37.4 E5 - 37.4 Al3 - 54.6
Al4 - 41.0 Al4 - 41.0 B17 - 50.8
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10 4 D754 Basta kontrakt 11 4 D872 Basta kontrakt 12 & E842 Basta kontrakt
Ost v- 5¢ V =-600 Syd v Kn62 74 SD-6-1400 |Vast v3 44 V =-420
Alla 41087 Ingen + Kn10753 NS + Kn973
#D97542 & ¢ v & NT »5 & ¢ v & NT #KD95 & ¢ v & NT
10 »« Kn963 N9 2 48 4 49 «E53 NO 2672 «KD «Knl1l07653 N 9 6 3 2 3
vKKn852 vE43 S92 484 vK3 vE109 S0267 2 vE1096 v KDKn7 S86 323
+Kn962 ¢ EKD54 O3 109 4 9 ¢ EKDG64 ¢ 92 O 13117 5 11 ¢ K52 + 1086 O 4 6 10107
*E63 #Kn vV 3 119 4 9 #EK872 #DKn943 V 13117 5 11 #E843 - V 46 10107
& EK82 » KKn1064 9
vD10976 vD8754 v 8542
+3 +8 ¢+ ED4
»K108 #106 #Kn10762
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr ut Res Poéang
D13 D5 4vDV-2 «Q 500 78.0 0.0| D5 D16 34 S-1 ¢ A -50 78.0 0.0(E16 E6 4v V-3 «5 150 78.0 0.0
B2 B9 24 O-4 8 400 76.0 2.0|Bl12 B8 3#O0+3 4] -170 76.0 2.0| D1 D4 3NV-2 +3 100 73.0 5.0
B14 B12 4v V-3 «4 300 740 40| D1 D4 5# QO +2 +6 -440 57.0 21.0| C7 C6 6y V-2 A 100 73.0 5.0
Cl2 C2 5¢DO-1 4A 200 720 6.0| E1 E11 54 O+2 4] -440 57.0 21.0|Cl12 C2 4y O-2 9 100 73.0 5.0
E17 E14 34 S= ¢6 140 70.0 8.0| A3 All 5# O +2 +8 -440 57.0 21.0|E14 E8 3NV-2 K 100 73.0 5.0
El E8 5¢ O-1 «A 100 65.0 13.0| B3 B10 5# O +2 +8 -440 57.0 21.0| B2 B17 44 V-1 v3 50 64.0 14.0
A3 Al12 5¢ O-1 A 100 65.0 13.0| D3 D7 5# O +2 +8 -440 57.0 21.0| B3 B10 44 V-1 v3 50 64.0 14.0
A6 Al19 5¢ O-1 +3 100 65.0 13.0| A7 A20 5# O +2 +8 -440 57.0 21.0| C9 C4 4v O-1 49 50 64.0 14.0
C9 C4 4¢0-1 «A 100 65.0 13.0| A8 A22 5# V +2 a2 -440 57.0 21.0| E9 E3 4v V-1 *Q 50 64.0 14.0
Bll B7 3¢ O= s A -110 59.0 19.0| D8 D10 5# V +2 8 -440 57.0 21.0|B16 B1l 4v V-1 *K 50 64.0 14.0
E1l E12 2¢ O+1 4A -110 59.0 19.0| C9 C4 5#V+2 48 -440 57.0 21.0|B13 B6 24 V= v3 -110 58.0 20.0
D1 D8 3¢ O+1 &A -130 43.0 35.0| E9 E3 5# 0 +2 +8 -440 57.0 21.0|D11 D15 24 O +1 49 -140 55.0 23.0
A2 A22 3¢ O+1 &A -130 43.0 35.0|D11 D15 5# O+2  &T -440 57.0 21.0|B18 B9 3v O= *7 -140 55.0 23.0
C3 Cl1l 2¢ O+2 4A -130 43.0 35.0|C12 C2 5#V+2 v6 -440 57.0 21.0| E1 E11 3v V+1 *9 -170 51.0 27.0
B4 B3 3¢ O+1 4A -130 43.0 35.0|B13 B6 5%V +2 &5 -440 57.0 21.0| D5 D16 3v V+1 *5 -170 51.0 27.0
E4 E9 3¢ V+1 4 A -130 43.0 35.0|D13 D6 5# O +2 +8 -440 57.0 21.0|E12 E13 24 O+3 *2 -200 48.0 30.0
A7 A21 3¢ O+1 4K -130 43.0 35.0|Al4 A10 5# O +2 +8 -440 57.0 21.0| Al A19 4v V= *K -420 32.0 46.0
E10 E3 3¢ O+1 4A -130 43.0 35.0|E14 E8 5 0+2 4] -440 57.0 21.0| A2 A21 44 V= *K -420 32.0 46.0
All A8 4¢ O= s A -130 43.0 35.0|B15 B7 5#V+2 &5 -440 57.0 21.0| D2 D9 4v V= *K -420 32.0 46.0
Cll1 C5 3¢ O+1 v6 -130 43.0 35.0|E18 E4 5# O +2 +8 -440 57.0 21.0| A3 All 4v V= & A -420 32.0 46.0
B13 B5 3¢ O+1 v7 -130 43.0 35.0| A2 A21 4NV +1 a7 -460 35.0 43.0| C3 Cl1 44 V= v3 -420 32.0 46.0
D14 D11 3¢ O+1 4A -130 43.0 35.0|E12 E13 3N O +2 a4 -460 35.0 43.0| A4 A13 4v V= *K -420 32.0 46.0
E15 E18 3¢ O+1 &K -130 43.0 35.0|E15 E7 3NO+2 a4 -460 35.0 43.0| B5 B4 4v V= s A -420 32.0 46.0
E16 E5 4¢ O= LY -130 43.0 35.0|A18 A6 3NO +2 v4 -460 35.0 43.0| A7 A20 44 V= *K -420 32.0 46.0
B18 B8 4¢ O= s A -130 43.0 35.0| B2 B17 3NO+3 a4 -490 27.0 51.0| D8 D10 4v V= *K -420 32.0 46.0
Al5 A10 3v V= a5 -140 28.0 50.0| C3 Cl1 3NO+3 T -490 27.0 51.0|C11 C5 44 V= v3 -420 32.0 46.0
D2 D6 2¢ O+3 &A -150 20.0 58.0|E16 E6 4N O +2 v5 -490 27.0 51.0|B12 B8 4v V= *K -420 32.0 46.0
B10 B16 3¢ O+2 4A -150 20.0 58.0 |A17 A16 3N O +3 a4 -490 27.0 51.0|D13 D6 4v V= *K -420 32.0 46.0
Cl10 C8 2¢ O+3 &K -150 20.0 58.0|B18 B9 3NV +4 +3 -520 22.0 56.0 |D14 D12 44 V= v3 -420 32.0 46.0
D12 D3 3¢ O+2 &A -150 20.0 58.0| Al A19 6% O +1 +8 -940 12.0 66.0|B15 B7 4v V= *K -420 32.0 46.0
B15 B6 3¢ O+2 &K -150 20.0 58.0| D2 D9 6# O +1 +8 -940 12.0 66.0 |Al7 Al6 4y O= *7 -420 32.0 46.0
D16 D4 2¢ O+3 &A -150 20.0 58.0| A4 A13 6# V+1 ¢J -940 12.0 66.0| D3 D7 44 V+1 v3 -450 8.0 70.0
Al18 Al7 3¢ O+2 4K -150 20.0 58.0| B5 B4 6#V+1 *7 -940 12.0 66.0| A5 Al5 44 V+1 v3 -450 8.0 70.0
D15 D10 4¢ O+2 &A -170 12.0 66.0| E5 E17 62 O+1 4] -940 12.0 66.0| E5 E17 44 V+1 v3 -450 8.0 70.0
Al A20 1INV +4 *5 -210 10.0 68.0|C10 C8 6# V +1 a2 -940 12.0 66.0| A8 A22 4y V+1 LY -450 8.0 70.0
E13 E7 3vS-5 2 -500 8.0 70.0|C11 C5 6#0+1 +8 -940 12.0 66.0|C10 C8 44 V+1 v3 -450 8.0 70.0
C7 C6 3NO= v6 -600 5.0 73.0|D14 D12 6% O +1 +8 -940 12.0 66.0 |A14 A10 44 V+1 v3 -450 8.0 70.0
D7 D9 3NO= v6 -600 5.0 73.0|B16 B1l 6# O +1 +8 -940 12.0 66.0 |E15 E7 44 O+1 v8 -450 8.0 70.0
A4 Al4 3N O +1 oK -630 2.0 76.0| A5 Al15 7# 0= ¢8 -1440 1.0 77.0|A18 A6 44 V+1 v3 -450 8.0 70.0
A5 A16 3NV +2 &4 -660 0.0 780| C7 C6 7# 0= ¢3 -1440 1.0 77.0|E18 E4 44 V+1 v3 -450 8.0 70.0
E6 - 41.9 E10 - 35.2 E10 - 35.2
Al13 - 54.6 Al12 - 24.6 Al12 - 24.6
B17 - 50.8 B14 - 49.3 B14 - 49.3
13 4 D762 Bésta kontrakt 14 4 D963 Bésta kontrakt 15 452 Bésta kontrakt
Nord v E987432 6v ND-4-1100 |Ost v D963 3NT O =-400 Syd v K9853 44 V =-420
Alla ¢+ Kn2 Ingen 2 NS +8
*- & ¢ v o NT »8764 & ¢ v & NT #ED1042 & ¢ v o NT
~ K8 « E1043 N11842 K85 & EKn7 N5555 4 «ED106 4Kn74 N51821
vKD6 v- S11842 vKnl08 K75 S55554 vE2 v 107 S51832
+973 ¢+ ED1064 0 12115 9 9 ¢1054  # K963 088889 ¢ EKD103 ¢ 6542 O 7 115 109
#EKD109 #Kn843 VvV 12125 9 9 #E1053 #KD2 V87 88 8 #86 #KKn95 vV 7 115 109
# Kn95 #1042 « K983
v Kn105 vE42 v DKn64
+ K85 + EDKn87 + Kn97
#7652 *Kn9 *73
Par Kontr Ut Res Poang Par Kontr ut Res Poéang Par Kontr Ut Res Poéng
B15 B8 3NN +2 ¢J 660 780 00| C8 C7 2NV-1 2 50 75.0 3.0|A10 A12 3yDN=  #7 730 78.0 0.0
B14 B2 3NN+1 ¢+3 630 76.0 2.0|E16 E10 34 0O-1 &9 50 75.0 3.0| D3 D6 2v N= ¢6 110 76.0 2.0
A5 Al4 3NV-3 v4 300 740 4.0|B17 B3 3NO-1 ¢J 50 75.0 3.0|Al15 Al4 44 V-2 +8 100 74.0 4.0
A2 A20 4NV -2 v4 200 720 6.0|E17 E3 3NO-1 ¢ A 50 75.0 3.0| E1 E15 34 V-1 *A 50 72.0 6.0
B18 B10 3# N +3 +3 170 70.0 80| A3 A22 2y N-1 +3 -50 69.0 9.0(D15 D1 Pass 70.0 8.0
B7 B13 14 S+4 3 150 68.0 10.0 | A16 Al15 2y N-1 &K -50 69.0 9.0(E18 E3 3v N-1 +6 -100 68.0 10.0
C8 C7 3vyN= ¢4 140 65.0 13.0| E8 E5 2¢ S-2 v] -100 64.0 14.0| B5 B12 1¢ V+2 *T -110 66.0 12.0
E16 E10 3v N= A 140 65.0 13.0| D9 D11 2¢ N-2 v5 -100 64.0 14.0| B2 B10 2NV = v3 -120 64.0 14.0
B6 B5 3& N+1 ¢T 130 61.0 17.0|C11 C6 2v S-2 &3 -100 64.0 14.0| E4 E12 3¢ V+1 45 -130 56.0 22.0
B17 B3 3# N+1 ¢+9 130 61.0 17.0| D2 D5 2NO= ¢7 -120 54.0 24.0| A6 Al6 3¢ V+1 v5 -130 56.0 22.0
E6 E18 3NV-1 v9 100 57.0 21.0| B6 B5 2NO= *7 -120 54.0 24.0| B7 B6 1¢ V+3 v3 -130 56.0 22.0
A19 A7 6NV-1 vA 100 57.0 21.0|D12 D15 1INV +1 43 -120 54.0 240| E7 E6 1¢ V+3 v3 -130 56.0 22.0
Cl C10 3v N-1 ¢4 -100 51.0 27.0|B14 B2 2NO= *9 -120 54.0 24.0| C8 C7 1¢ V+3 *2 -130 56.0 22.0
B4 B11 6 N-1 T -100 51.0 27.0|B15 B8 2NO= ¢ A -120 54.0 24.0|C11 C6 1¢ V+3 v3 -130 56.0 22.0
D12 D15 3v N-1 ¢ A -100 51.0 27.0|B16 B12 2NO = ¢J -120 54.0 24.0|Al7 Al 2¢ O+2 *7 -130 56.0 22.0
B16 B12 6% N-1 ¢J -100 51.0 27.0|A18 Al INO+1 ¢ A -120 54.0 24.0| D2 D14 2¢ O+3 *7 -150 38.0 40.0
C4 C2 32V +2 v9 -150 44.0 34.0| D3 D10 INO +2 +J -150 40.0 38.0| A3 A21 4¢ V+1 v5 -150 38.0 40.0
E4 E7 3¢ O+2 vJ -150 44.0 34.0| A4 Al2 2NO +1 ¢ A -150 40.0 38.0| A4 All 4¢ V+1 v4 -150 38.0 40.0
D9 D11 44V +1 vA -150 44.0 34.0| E6 E18 2NV +1 43 -150 40.0 38.0| D4 D11 3¢ O +2 v6 -150 38.0 40.0
A3 A22 3¢ O+3 vJ -170 38.0 40.0|C12 C3 INO+2 +8 -150 40.0 38.0| A7 Al18 3¢ V+2 +8 -150 38.0 40.0
D3 D10 3# V +3 +J -170 38.0 40.0|A13 A10 INO+2 *7 -150 40.0 38.0| C9 C5 3¢ V+2 v8 -150 38.0 40.0
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A4 Al2 3# 0O +3 vA -170 38.0 40.0|E13 E1 2N O +1 +8 -150 40.0 38.0|D10 D12 1¢ V+4 v8 -150 38.0 40.0
A8 A21 2vyDN-1 4A -200 33.0 45.0|E14 E11 INO+2 +8 -150 40.0 38.0|E10 E8 4¢ O+1 45 -150 38.0 40.0
D13 D7 3v N-2 &4 -200 33.0 45.0| C1 C10 2N O +2 vA -180 26.0 52.0 |B11 B18 4¢ V +1 v8 -150 38.0 40.0
A6 Al7 3NV = v9 -600 29.0 49.0| D1 D14 INO +3 *7 -180 26.0 52.0|C12 C3 3¢ V+2 v3 -150 38.0 40.0
A13 A10 3NV= v4 -600 29.0 49.0| A8 A21 INO+3 *A -180 26.0 52.0|A19 A2 3¢ V+2 &T -150 38.0 40.0
D1 D14 5&V +1 vA -620 20.0 58.0| C9 C5 2N O +2 ¢A -180 26.0 52.0| C1 C10 1e¢ V+5 a2 -170 24.0 54.0
D2 D5 5&V+1 vA -620 20.0 58.0|D13 D7 2N O +2 v2 -180 26.0 52.0| E5 E11 3¢ V+3 a2 -170 24.0 54.0
D4 D8 5&V +1 vA -620 20.0 58.0 |E15 E12 1IN O +3 ¢ A -180 26.0 52.0|B15 B9 3¢ V+3 45 -170 24.0 54.0
E8 E5 5#V+1 vA -620 20.0 58.0|B18 B10 2N O +2 *7 -180 26.0 52.0| D5 D9 1¢ V+6 *2 -190 20.0 58.0
Cll C6 5#V+1 vA -620 20.0 58.0| A2 A20 3& N-4 +6 -200 18.0 60.0 |D13 D8 3v N-2 L) -200 18.0 60.0
D16 D6 5¢ O +1 v5 -620 20.0 58.0| B7 B13 INO +4 *7 -210 16.0 62.0| D7 D16 3# S -4 vA -400 14.0 64.0
E17 E3 5#V+1 vA -620 20.0 58.0| B4 B11 3NO= ¢ A -400 9.0 69.0| B8 B13 5¢ O= *7 -400 14.0 64.0
C9 C5 3NV+1 a7 -630 8.0 70.0| C4 C2 3NO= ¢ A -400 9.0 69.0|B14 B3 5¢ V= +8 -400 14.0 64.0
E14 E11 3NV +1 v2 -630 8.0 70.0| E4 E7 3NO= *7 -400 9.0 69.0| C4 C2 3NO+2 43 -460 9.0 69.0
E15 E12 3NV +1 vA -630 8.0 70.0| A5 Al14 3NO= ¢ A -400 9.0 69.0|B17 B4 3NV +2 *2 -460 9.0 69.0
Al16 Al5 3NV +1 46 -630 8.0 70.0|D16 D6 3NV = 46 -400 9.0 69.0|E16 E9 5¢DV= v5 -550 6.0 72.0
A18 Al 3NV +1 v7 -630 8.0 70.0|A19 A7 3NO= +8 -400 9.0 69.0|A20 A8 24DS-3 +¢A -800 4.0 74.0
Cl2 C3 3NV +2 a2 -660 2.0 76.0| D4 D8 3N O +2 *7 -460 2.0 76.0|E14 E13 5¢RDV+1 #A -1000 2.0 76.0
E13 E1 5¢DO= &2 -750 0.0 78.0| A6 Al7 2NDS-4 +4 -800 0.0 78.0| A5 A13 44DN-4 ¢4 -1100 0.0 78.0
- B9 31.8 - B9 31.8 - A22 31.8
- All 36.0 - All 36.0 | B16 - 41.3
E9 - 50.3 E9 - 50.3 E17 - 48.9
16 a7 Basta kontrakt 17 « KD875 Basta kontrakt 18 «E1074 Basta kontrakt
Vast v2 5& N =400 Nord v Kn983 4¢ O =-130 Ost v D83 6v O D -4 800
ov + DKn1043 Ingen 464 NS +76
#EKKN976 & ¢ v & NT *104 & ¢ v & NT #ED54 & ¢ v & NT
4 EK 4 Kn9543 N 11104 7 9 4Knl04 492 N33674 # 86 « KD9532 N 12115 5 8
vD10753 ¥vEKn96 S 11104 7 9 v 64 vE752 S33674 vEKN1096 v K542 S 12115 5 8
+ 986 ¢ K75 02 3864 + E103 ¢ KD972 O 9 106 5 8 ¢ Kn943 +8 00288 4
#1032 *D V23864 #KKn985 &E2 V 9 106 5 8 K2 #93 V028284
«D10862 4 E63 & Kn
v K84 vKD10 v7
¢ E2 + Kn85 + EKD1052
#854 +D763 #Kn10876
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
Al10 Al2 34DO-4 ¢A 1100 780 00| E4 E1 3v V-3 «7 150 77.0 1.0|A10 A1l 5¢DN= 48 750 770 1.0
B5 B12 3NN +3 v3 490 76.0 2.0|E15 E14 3v O-3 A 150 770 1.0(B18 B12 5¢DS= vA 750 770 1.0
C5 C3 3NS+2 &2 460 740 4.0 A4 A22 24 N= «A 110 70.0 8.0| B4 B14 3NN +2 4K 660 74.0 4.0
E1 E15 5 N= «3 400 68.0 10.0( A6 Al5 24 N= ¢+K 110 70.0 8.0(E16 E17 5# N +2 +K 640 720 6.0
Cl2 C4 3NS= v3 400 68.0 10.0 [A16 Al 24 N= «A 110 700 80|A16 Al 3NN+1 5 630 70.0 8.0
B15 B9 5# N-= vA 400 68.0 10.0 (B17 B5 24 N= «A 110 700 80| E9 E7 5#N+1 K 620 68.0 10.0
E16 E9 5#S-= K 400 68.0 10.0 [A20 A3 24 N= ¢+K 110 700 80| B3 B11 3NN= v4 600 60.0 18.0
Al7 Al 5& N-= &7 400 68.0 100 E9 E7 3¢ O-2 «A 100 64.0 140 A7 Al7 3NN= K 600 60.0 18.0
E4 E12 24 O-2 &4 200 61.0 17.0| C2 C10 3¢ O-1 4 A 50 54.0 24.0| A8 Al19 5¢ S= vA 600 60.0 18.0
A7 Al8 3v V-2 K 200 61.0 17.0| A5 Al12 4¢ O-1 vK 50 540 240 (D11 D1 3NN= +K 600 60.0 18.0
A3 A21 3& N +2 3 150 50.0 280 C5 C3 4¢ O-1 s A 50 54.0 24.0(C12 C4 3NN= K 600 60.0 18.0
D3 D6 2&# N +3 v6 150 50.0 28.0| D6 D10 3¢ O-1 4 A 50 54.0 24.0 (B17 B5 3NN= 4Q 600 60.0 18.0
E7 E6 3# N+2 v6 150 50.0 28.0| B8 B7 3¢ O-1 46 50 540 240 (A20 A3 5#S= vA 600 60.0 18.0
D10 D12 2# N +3 5 150 50.0 28.0| E8 E3 3¢ O-1 vK 50 54.0 240 A5 Al2 34DO-2 +A 300 52.0 26.0
E10 E8 3¢ N+2 «Q 150 50.0 28.0 |A10 A1l 3¢ O-1 +5 50 54.0 24.0| E6 E12 34 O-4 ¢A 200 50.0 28.0
D13 D8 4# N +1 vA 150 50.0 28.0(C12 C4 3¢ O-1 *6 50 540 240 | E5 E13 44 S+3 8 190 48.0 30.0
Al15 Al4 2# N +3 5 150 50.0 28.0 (B16 B2 3¢ O-1 vK 50 54.0 24.0 [E15 E14 44 S +2 vA 170 46.0 32.0
B17 B4 3& N +2 vA 150 50.0 28.0 (D15 D2 Pass 44.0 34.0| A4 A22 3¢ S+2 46 150 40.0 38.0
A20 A8 44 N+1 vA 150 50.0 28.0 (B13 B9 34 N-1 &A -50 410 370 C5 C3 3¢ S+2 8 150 40.0 38.0
Cl C8 2& N+2 ¢5 130 34.0 440 (B18 B12 24 N-1 SA -50 41.0 37.0|B13 B9 4v V-3 ¢7 150 40.0 38.0
B2 B10 2# N +2 vA 130 340 440 C1 C8 INV= 45 -90 37.0 41.0 [Al14 Al13 4¢ S+1 48 150 40.0 38.0
D2 D14 3& N +1 3 130 34.0 440|A18 A2 2¢ O= vK -90 37.0 41.0(B16 B2 3¢ S+2 8 150 40.0 38.0
A4 All 4¢ N= v6 130 340 440 | B4 B14 34 N-2 SA -100 32.0 46.0| E8 E3 4¢ S= 8 130 34.0 44.0
E5 E11 3# N+1 4 130 34.0 440 (D14 D3 34 N-2 ¢+ K -100 32.0 46.0| B8 B7 3& N= 4K 110 32.0 46.0
A6 Al6 3# N +1 3 130 34.0 44.0|B15 B10 24 N-2 *A -100 32.0 46.0| C7 C11 24 O-2 ¢A 100 28.0 50.0
C9 C6 3¢ N+1 «Q 130 34.0 440 D5 D12 3¢ O= s A -110 26.0 52.0| C9 C6 3v V-2 ¢7 100 28.0 50.0
C2 C10 3# N= +5 110 25.0 53.0 A8 A19 3¢ O= &7 -110 26.0 52.0 |A18 A2 3v V-2 ¢7 100 28.0 50.0
B1ll B18 3# N= ¢5 110 25.0 53.0 (E11 E10 3# V= s K -110 26.0 52.0| C1 C8 24 O-1 *A 50 19.0 59.0
D15 D1 Pass 22.0 56.0 B3 B11 1INV +1 45 -120 19.0 59.0| D4 D7 24 O-1 ¢ A 50 19.0 59.0
D4 D11 5& N-1 a4 -50 14.0 64.0( D4 D7 1INV +1 45 -120 19.0 59.0| D5 D12 34 O-1 ¢ A 50 19.0 59.0
B7 B6 3NS-1 s A -50 14.0 64.0( C7 Cl11 INV+1 45 -120 19.0 59.0| D6 D10 3v V-1 *7 50 19.0 59.0
D7 D16 4# N-1 vA -50 14.0 64.0 (E16 E17 2NV = L X3 -120 19.0 59.0|D13 D9 3v V-1 *7 50 19.0 59.0
B8 B13 44 N-1 vA -50 14.0 64.0( E5 E13 4¢ O= vK -130 9.0 69.0|D14 D3 34 O-1 ¢ A 50 19.0 59.0
B14 B3 5& N-1 vA -50 14.0 64.0| A7 Al7 3¢ O+1 *6 -130 9.0 69.0|D15 D2 Pass 12.0 66.0
E18 E3 4¢ N-1 *0Q -50 14.0 64.0| C9 C6 3¢ O+1 s A -130 9.0 69.0|E11 E10 3NN-1 «Q -100 10.0 68.0
A19 A2 5&N-1 L Jo) -50 14.0 64.0 (D11 D1 1¢ O+3 vK -130 9.0 69.0| E4 El1 24 O= v7 -110 8.0 70.0
E14 E13 5¢DN-1 ©vA -100 6.0 72.0|Al14 A13 3¢ O+1 s A -130 9.0 69.0|B15 B10 34 O= ¢+Q -140 5.0 73.0
A5 Al13 3v V= a7 -140 2.0 76.0|D16 D8 2¢ O+2 s A -130 9.0 69.0|D16 D8 3v V= *A -140 5.0 73.0
D5 D9 3v O= ¢ A -140 2.0 76.0|D13 D9 1INV +3 4K -180 2.0 76.0| C2 C10 3NN-2 v2 -200 2.0 76.0
C7 Cl11 2v V+1 *6 -140 2.0 76.0| E6 E12 2NS-4 +3 -200 0.0 78.0| A6 Al5 3vDV= *4 -530 0.0 78.0
- A22 31.8| B6 - 42.6 B6 - 42.6
B16 - 41.3 E18 - 425 E18 - 425
E17 - 48.9 A21 - 41.8 A21 - 41.8
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19 4 D64 Basta kontrakt 20 4 D8742 Basta kontrakt 21 4 KDKn105 Basta kontrakt
Syd v D986 5v SD-2-300 Vast v 8643 34 N =140 Nord v 82 6NT O =-990
oV + 109864 Alla ¢E5 NS ¢ Kn2
3 & ¢ v &aN #DKn LR A #Kn876 & v & NT
29852 4 EK73 N55926 + 106 & K95 N6 699 29632 #E7 N 1 141
v1054 w7 S55926 v 97 vED5 S66 99 vD954 v EKKn S1 141
¢ EDKn2 ¢ K53 08 8 4 107 ¢ KD103 ¢ Kn976 077 34 *7 ¢ EKD93 0 1112129 12
*74 #EDKNn108 V 8 8 4 107 #E10942 #876 V7734 #ED93 #K102 V 1112129 12
4« Knl0 & EKn3 484
v EKKn32 v KKn102 v 10763
*7 ¢ 842 + 108654
»K9652 »K53 #54
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr ut Res Poéang
C8 Cl11 2vyDS+1 &7 570 78.0 0.0|B11 B15 4#DV-3 ¢A 800 780 00| B8 B3 5#0-3 8 150 78.0 0.0
A21 A4 3#DO-2 vA 500 76.0 2.0|Al13 Al12 2y N+4 5 230 76.0 20| E6 E14 7TNO-2 ¢4 100 740 4.0
D9 D16 4y S= &4 420 740 40| C9 C7 1a N+4 v5 200 740 40| E9 E1l 6NV-2 «Q 100 740 4.0
D7 D11 4# O-3 ¢7 300 720 6.0| C2 Cl 2v S+2 ¢+K 170 60.0 18.0|E16 E8 6¢ V-2 «K 100 74.0 4.0
E6 E1 5#0-2 vA 200 69.0 9.0| D3 D15 24 N+2 8 170 60.0 18.0| D1 D3 6NV-1 &K 50 65.0 13.0
Al13 Al2 34 O-2 ¢7 200 69.0 9.0| B4 B12 1a N+3 ¢7 170 60.0 180 C8 C11 6NO-1 ¢*4 50 65.0 13.0
B1l B15 3v N+1 K 170 66.0 12.0| A5 All 2v S+2 T 170 60.0 18.0|B12 B15 6NV -1 +K 50 65.0 13.0
E14 E4 2v S+1 4 140 63.0 15.0| E5 E15 1a N+3 8 170 60.0 18.0|D13 D11 3v V-1 aK 50 65.0 13.0
B17 B6 3v S= &7 140 63.0 15.0| A6 Al4 1a N+3 &6 170 60.0 18.0 (D16 D10 6NV -1 &K 50 65.0 13.0
D3 D15 2v S= 7 110 57.0 21.0| C6 C4 3v S+1 +3 170 60.0 18.0| A20 A4 6NO-1 +5 50 65.0 13.0
B5 B14 2v S= «7 110 57.0 21.0| E6 E1 1lv S+3 T 170 60.0 18.0| C9 C7 3¢ V+1 &T -130 56.0 22.0
C9 C7 2vS= ¢A 110 57.0 21.0| A7 Al16 3v S+1 «A 170 60.0 18.0 ([E1l E3 3¢ V+1 &K -130 56.0 22.0
A22 A10 2v S= 7 110 57.0 21.0| A8 A18 2v S+2 «T 170 60.0 18.0 |E18 E12 3¢ O+1 a4 -130 56.0 22.0
E7 E3 44 O-1 vA 100 51.0 27.0| D9 D16 2v S+2 A 170 60.0 18.0| D4 D15 3v V+1 s K -170 52.0 26.0
B16 B3 44 O-1 vA 100 51.0 27.0|E10 E13 2v S +2 +3 170 60.0 18.0| A2 Al16 4v V= aK -420 49.0 29.0
C2 Cl1 3vS-1 &4 -50 40.0 38.0|D14 D4 2v N+2 5 170 60.0 18.0|C12 C5 4y V= +K -420 49.0 29.0
B4 B12 3v S-1 ¢ A -50 40.0 38.0| Al Al5 34 N= #6 140 340 440| E4 E5 3NO+1 ¢+5 -430 46.0 32.0
A8 A18 3v S-1 &7 -50 40.0 38.0| B7 B2 2v S+1 ¢K 140 340 440 C6 C4 4v V+l aK -450 43.0 35.0
B9 B8 3v S-1 49 -50 40.0 38.0| E7 E3 2v S+1 T 140 34.0 440|A18 A3 4y V+1 aT -450 43.0 35.0
Cl2 C5 3vS-1 &7 -50 40.0 38.0| C8 Cl11 14 N+2 ¢J 140 34.0 440| Al Al14 3NO+2 ¢+5 -460 26.0 52.0
E12 E9 3vS-1 &4 -50 40.0 38.0(C12 C5 2v S+1 ¢K 140 34.0 440| C2 Cl1 5NO= *4 -460 26.0 52.0
D13 D10 3v S-1 &7 -50 40.0 38.0|E12 E9 1a N+2 ¢6 140 34.0 440| C3 C10 3NO +2 +5 -460 26.0 52.0
D14 D4 4v S-1 ¢ A -50 40.0 38.0|D13 D10 24 N+1 6 140 34.0 440| A6 Al13 3NO +2 +4 -460 26.0 52.0
E16 E18 4v S-1 &4 -50 40.0 38.0|B16 B3 2v S+1 A 140 34.0 440| D6 D9 4NO +1 v6 -460 26.0 52.0
D5 D8 4v S-2 &7 -100 27.0 51.0|A17 A2 3v S= ¢K 140 34.0 44.0| A7 A15 3NO+2 48 -460 26.0 52.0
A6 Al4 4v S-2 &7 -100 27.0 51.0|B17 B6 2v S+1 ¢K 140 34.0 440| D7 D2 3NO+2 ¢4 -460 26.0 52.0
C6 C4 4v S-2 &4 -100 27.0 51.0 |E17 E11 1a N+2 &7 140 34.0 44.0| D8 D12 3N O +2 +4 -460 26.0 52.0
B13 B10 3vDS-1 42 -100 27.0 51.0|A21 A4 2vy N+1 ¢6 140 34.0 44.0| A10 A21 3NO +2 v3 -460 26.0 52.0
C3 C10 3#0= vA -110 22.0 56.0 |A22 A10 2v S+1 ¢K 140 34.0 440|B10 B9 5NO= v3 -460 26.0 52.0
A5 All 34 O= *7 -140 19.0 59.0 |D12 D2 2NS= 2 120 20.0 58.0 |E10 E15 3N O +2 +4 -460 26.0 52.0
E10 E13 34 O= vA -140 19.0 59.0| C3 C10 2v S= ¢K 110 12.0 66.0 |A12 A1l 3N O +2 v3 -460 26.0 52.0
D12 D2 34 O+1 vA -170 15.0 63.0| B5 B14 2v S= ¢+K 110 12.0 66.0 |B13 B11 3N O +2 L Y] -460 26.0 52.0
Al9 A3 34 V+1 3 -170 15.0 63.0| D6 D1 1a N+1 ¢7 110 12.0 66.0|B17 B7 5NO= a4 -460 26.0 52.0
E17 E11 4vDS-2 49 -300 12.0 66.0| D7 D11 2v S= ¢K 110 12.0 66.0|B18 B2 3NV +2 +K -460 26.0 52.0
A7 Al6 5vDS-3 49 -500 10.0 68.0|B13 B10 1a N+1 ¢7 110 12.0 66.0 |E13 E17 3NV +3 vJ -490 8.0 70.0
E5 E15 44 V= &3 -620 6.0 72.0|E14 E4 1lv S+1 +3 110 12.0 66.0|B14 B6 3NO+3 48 -490 8.0 70.0
D6 D1 44 V= vQ 620 6.0 72.0|A19 A3 1a N+1 ¢6 110 12.0 66.0 |A22 A5 3NO+3 *T -490 8.0 70.0
B7 B2 44 V= 3 -620 6.0 72.0|E16 E18 INS= *4 90 4.0 74.0| D5 D14 6NV = &T -990 2.0 76.0
Al Al15 4a V+1 3 -650 1.0 77.0| B9 B8 2v S-1 +K -100 2.0 76.0| A8 Al7 6NO = +6 -990 2.0 76.0
Al7 A2 44 V+1 &3 -650 1.0 77.0| D5 D8 4v S-2 &*A -200 0.0 78.0|B16 B4 6NO= *T -990 2.0 76.0
E8 - 37.1 E8 - 37.1 B5 - 27.2
- A20 45.3 - A20 E7 - 39.6
B18 - 38.6 B18 - 38.6 - A19 36.6
22 4 Kn76 Bésta kontrakt 23 a- Bésta kontrakt 24 & E543 Bésta kontrakt
Ost v6 44 S D -3-500 Syd v EKDKn432 3v S =140 Vast v Kn87 24 VD-1100
oV ¢ EKn3 Alla ¢ 532 Ingen + Kn862
#EK10843 & ¢ v o N #743 LI AN *D2 & ¢ v &N
~K3 ~E84 N7 3373 4Kn76 & EK32 N4 797 #1097 « KKn86 N488565
vD5 YEKKn942 S 7 3 3 7 3 v10985 v7 S 4897 v EK6 v 954 S 48866
¢ K8754 ¢ D62 O5 9 105 9 ¢ED7 +984 09536 +9 ¢ KD3 085577
D952 &6 vV 5 10105 9 #Kn62 #KD1095 V9536 #KKn9854 #763 V85577
« D10952 « D109854 D2
v 10873 v6 vD1032
+ 109 + KKn106 ¢+ E10754
*Kn7 *E8 #E10
Par Kontr Ut Res Poang Par Kontr ut Res Poéang Par Kontr Ut Res Poéng
B8 B3 4v O-3 «7 300 78.0 0.0|B17 B8 34DO-3 v6 800 78.0 0. C4 C10 5% V-3 ¢2 150 78.0 0.0
D4 D15 4y O-2 &7 200 73.0 50| B9 B4 3yDN= «A 730 76.0 2.0|B17 B8 INS+1 v6 120 759 21
E6 E14 4v O-2 9 200 73.0 50| A6 Al2 4y N+1 A 650 74.0 4. E5 E6 3¢ S= vA 110 728 5.2
A7 Al15 4y O-2 +«J 200 73.0 50| C6 Cl2 4y N= vA 620 66.0 12. A7 Al4 3¢ S= vA 110 728 5.2
A10 A21 4v O -2 «J 200 73.0 50| D6 D14 4y N= K 620 66.0 12. A2 Al5 44V -2 ¢6 100 64.6 13.4
Al Al4 3v O-1 +4 100 58.0 20.0 |E10 E4 4y N= A 620 66.0 12. D6 D14 3# V-2 «A 100 64.6 13.4
D1 D3 4y O-1 +«J 100 58.0 20.0 |B11 B10 4v N= K 620 66.0 12. E9 E14 4& V-2 ¢2 100 64.6 13.4
A2 Al6 4y O-1 «J 100 58.0 20.0 |A13 Al 4y N= K 620 66.0 12.0|B14 B7 24 O-2 «A 100 64.6 13.4
C3 C2 4v0-1 «J 100 58.0 20.0|B14 B7 4y N= A 620 66.0 12.0| A19 A4 5# V-2 ¢J 100 64.6 13.4
C4 C10 4v O-1 «2 100 58.0 20.0|B18 B3 4y S= K 620 66.0 12.0 | A21 A5 44 V-2 v7 100 64.6 13.4
E9 E1 4v V-1 &7 100 58.0 20.0 |D11 D16 3NS= ¢7 600 56.0 22. D2 D4 2¢ S= vA 90 54.4 23.6
B13 B1l 4v O-1 «J 100 58.0 20.0|E16 E7 3NS= ¢7 600 56.0 22.0|E10 E4 2¢ S= vA 90 54.4 23.6
B14 B6 3v O-1 +«J 100 58.0 20.0 |E17 E15 3NS= v8 600 56.0 22.0|B11 B10 2¢ S= vA 90 54.4 23.6
B17 B7 4v O-1 «J 100 58.0 20.0| E8 E13 44 O-5 v6 500 52.0 26.0|E17 E15 INN= 46 90 54.4 23.6
Al8 A3 4v O-1 «J 100 58.0 20.0| D2 D4 3v N+1 A 170 49.0 29. E1 E18 34 O-1 *A 50 44.1 33.9
A20 A4 4v O-1 +J 100 58.0 20.0| C3 C2 3y N+1 K 170  49.0 29. C3 C2 240-1 *A 50 44.1 33.9
D7 D2 34 S-1 vQ -50 46.0 32.0| A3 Al7 3v N= «K 140 41.0 37. C7 C5 2+V-1 43 50 44.1 33.9
B10 B9 3# N-2 vA -100 42.0 36.0| B6 B2 3v N= A 140 41.0 37. E8 E13 3# V-1 s A 50 44.1 33.9
E13 E17 44#DN-1 ©vA -100 42.0 36.0| D9 D1 3v N= #K 140 41.0 37.0|E12 E3 3#V-1 ¢J 50 44.1 33.9
E16 E8 44 S-2 vQ -100 42.0 36.0|B12 B13 3v N= A 140 41.0 37.0|D15 D5 44 O-1 *A 50 44.1 33.9
Ell E3 3vO= LN -140 37.0 41.0|D15 D5 3v N= A 140 41.0 37.0|D11 D16 3¢ S-1 vA -50 359 421




D10 3v O = &7 -140 37.0 41.0|A19 A4 3y N= &K 140 41.0 37.0 (E16 E7 4¢ S- a7 -50 35.9 421
D14 2v O +2 L N] -170 32.0 46.0| E5 E6 4¢ S= +«J 130 34.0 440| B6 B2 2 V= +6 -90 32.8 45.2
All 3v O+1 &J -170 32.0 46.0| C4 C10 3#0O-1 v6 100 31.0 470 C1 C11 3¢ S-2 a7 -100 28.7 49.3
D11 3vy O+1 &J -170 32.0 46.0|A21 A5 3#0-1 v6 100 310 470 D9 D1 3¢ S-2 vA -100 28.7 49.3
Cl2 54 N-4 vA -200 26.0 52.0| C1 C11 4v N-1 *K -100 18.0 60.0 |All A22 3¢ S-2 oT -100 28.7 49.3
C8 3y O+2 LN -200 26.0 52.0| A2 A15 4y N-1 &K -100 18.0 60.0| B5 B16 14 O+1 *A -110 18.5 59.5
A5 3v O +2 L N] -200 26.0 52.0| B5 B16 3v N-1 & A -100 18.0 60.0| A6 Al2 24 O= *A -110 18.5 595
E12 54DN-2 ¢K -300 22.0 56.0| A7 Al4 4vy N-1 *K -100 18.0 60.0| D7 D10 2# V +1 *6 -110 18.5 59.5
Al7 3#DN-3 ©vA -500 20.0 58.0| C7 C5 4y N-1 &K -100 18.0 60.0| D8 D3 3% V= s A -110 18.5 59.5
Cll 4v O= &7 -620 12.0 66.0| D7 D10 3NS-1 v5 -100 18.0 60.0| B9 B4 3« V= s A -110 18.5 595
D9 4v V= &J -620 12.0 66.0| C9 C8 4v N-1 s A -100 18.0 60.0 |A10 A20 2# V +1 vJ -110 18.5 59.5
C5 4v O= +Q -620 12.0 66.0| E9 E14 4y N-1 s A -100 18.0 60.0|B12 B13 3% V= +6 -110 18.5 59.5
D12 4y O = L N] -620 12.0 66.0 |A10 A20 4v N-1 &K -100 18.0 60.0| C9 C8 4# V= *J -130 9.3 68.7
E15 4v O= &J -620 12.0 66.0 |E12 E3 4v N-1 s A -100 18.0 60.0|A13 Al 3V +1 *6 -130 9.3 68.7
B15 4v O = 49 -620 12.0 66.0 |D13 D12 4y N-1 &K -100 18.0 60.0| A3 Al7 24 O+1 *A -140 5.2 72.8
B4 4v O = L N] -620 12.0 66.0| E1 E18 4y N-2 s K -200 3.0 75.0|B18 B3 34 O= *A -140 5.2 72.8
Al3 3NV +1 *A -630 4.0 74.0| A8 Al6 4v N-2 +K -200 3.0 75.0|D13 D12 3N O +1 *A -430 2.1 759
E5 4y O+1 &7 -650 1.0 77.0| D8 D3 4y N-2 v7 -200 3.0 75.0| A8 Al6 4¢DS-3 ¥vA -500 0.0 78.0
B2 4y O+1 a2 -650 1.0 77.0|All A22 34 S-2 L N] -200 3.0 75.0 - Al8 33.8
- 27.2 - Al8 33.8 [El1l - 39.3
- 39.6 E11l - 39.3 B15 - 43.2
A19 36.6 | B15 - 43.2 C6 Ci12 A+/A- 46.8 31.2
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